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Kyoto is one of the oldest ( city / cities ) in Japan.

That mountain is higher than any other (mountain / mountains ) in this country.

Takeshi is ( very / much / well ) taller than Kenji.
This building is three times ( big / as big / bigger ) as that one.

That man is five years ( as young / younger / youngest ) than you.
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His bike is than mine.
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Yuki is my
ZOPIEHOHD 2 f50EE T,

This desk is heavy that one.
FRINEIHRDIE2D LD LY bRVTT,
The Shinanois any

FAD B CIFRDOR LY 44FE LT,
My uncle is four my father.
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This book is interesting that one.
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KERIZE D 7 5 2DIFHDEDBEDF X D b EREHNTT,

in Japan.

Z DR (question) T HDORJE L o L FEL WTT,

7= Hb Dl Z DD 4 5D K& & TF,

CNIEFHEATH 2 ANRDOHZMED S BLDOOE DT,

WYL LD DT o bHEL LHNTEET,

WL DRI DIZLY T o FELWTT,
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) HoHEHFROLY BT o LT,
His bike is much better than mine.

2) HEREBOVEIFALVEELDIbDOUE Y T,
Yuki is one of my best friends

3) ZoHEHOHD2EDEI T,
This desk is twice as heavy as that one.

4) FENEHARDEIPDEDNLY HEVTT,
The Shinanois __ longer than any __ other river in Japan.

5) BOBLIEMORLY 4mFE LT,
My uncle is four years older than my father.

6) ZOREFHOEIYVIFToLBHLAEVTT,
This book is  much more interesting than that one.
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Taro is taller than any other boy in his class.

Z DR (question) T HDORJE L o L FEL WTT,

This question is much more difficult than that one.

7= Hb Dl Z DD 4 5D K& & TF,

Our town is four times as big as this town. (Our town is four times bigger than this town.)

CNIEFHEATH 2 ANRDOHZMED S BLDOOE DT,

This is one of the most popular movies in Japan.

WYL LD DT o bHEL LHNTEET,

He can run much faster than Jim.

WL DRI DIZLY T o FELWTT,

Her picture is much more beautiful than mine.
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